R5EE "R AR (B TV VT HE) _ _
EEE R5.4.11 THE | 2 ME | EXAE
PN — i e e
= T | 22.0 — — —
HRE g | 6,052 6,052 | 6,052 | 6,052
A REE (RELE) [ke/L|l 0.151 0.151 | 0.151 | 0.151
= [ABER—A)__ | wt%]|_46.3 46.3 | 46.3 | 46.3
K ER=A) [wt%]| 7.2 7.2 7.2 7.2
& Ay (ER=2) Twt% | 46.5 465 | 465 | 46.5
REOIN=A) | wt%| 24.48 2448 | 2448 | 24.48
5t [KEERTR) [ wt%] 3.49 3.49 | 73.49 [3.49
£ |[EEWASA) [wt%] 0.58 0.58 10.58 7 0.58
5 [ (ER—=A) [wt%|[0.01 0.01 [770.01 [ 0.01
o [EE@EASA) . [wt%]|0.19 0.19 170,19 [70.19
B QEA— ) [wt%| 17.72 1772 1772 17772
TR4>D %ﬁ?‘((@/\_‘Z) wt% 2.5 2.5 2.5 2.5
‘I\é 4ﬁ ﬂ%ﬁj\(YE’/\_X) wt% 3.4 3.4 3.4 3.4
RS (BAR=A) [wt% | 1.3 1.3 1.3 1.3
RIS
() kJ/ke| 8,880 8,880 | 8,880 | 8,880
g |IBALARE kJ/ke| 7,580 7,580 | 7,580 | 7,580
= ELFERNE
2 _Q}E'%A;;Z%‘@ME) kJ/kg| 10,830 10,830 | 10,830 | 10,830
(i ey ) K9/ 20,680 20,680 20,680 | 20,680
W wt%|_4L.9 41.9 | _41.9 | _41.9
Eis wt% [ 117 L7 17 I
i wt%|[ 7.9 7.9 7.9 7.9
g [ A wt%]|[ 8.4 8.4 8.4 8.4
(792 F 7% Twt%| 24.1 240 |24 1 o4
| [T REE wt% | 0.7 0.7 0.7 0.7
2 [0t wt%] 3.9 3.9 3.9 3.9
SES wt% | 1.1 1.1 1.1 11
757 AHE Twt% 0.0 0.0 0.0 0.0
o [RbES -G | wt%| 0.3 0.3 0.3 0.3
| (&t wt%]|[100 — — —
A ETE wt%|[_36.5 36.5_| _36.5_|_36.5
| [EE wt%| 6.4 6.4 6.4 6.4
ik wt%|[ 7.9 7.9 7.9 7.9
g [EAM T Twt%] 8. 8.1 8.1 8.1
ATy Twt%| 341 34.0 | 734.1 [ 341
| o REE wt%|[ 1.1 1.1 1.1 1.1
2 [t wt% | 3.4 3.4 3.4 3.4
SEE wt% | 1.8 1.8 1.8 1.8
57 A% wt%|[ 0.1 0.1 0.1 0.1
YNE) A [wt%| 0.6 0.6 0.6 0.6
&t wt%]_100 — — —




